Name: Order of operations e.g. 47 x 8 + 24 x 6 (Skill 82)
Order of operations (e.g. 47 x 8 + 24 x 6)

1) 25x9+74x1= 11) 54 x 2+ 15x 3 =
2) 72x4+87x6= 12) 23x9+63x 6 =
3) 78x4+67x1= 13) 59x 2+55x 5=
4) 86x5+40x 1= 14) 19x 3+47x5=
5 24x9+72x6= 15) 99 x 8+46x 2 =
6) 60x5+38x 1= 16) 41 x2+42x 7=
7) 99x2+14x8= 17) 18 x2+42x 5=
8) 47x1+70x9= 18) 35x2+88x 8=
9) 24x5+31x4= 19) 76 X 3+ 79x 6 =
10) 27 x 8 +90x 8 = 20) 53 x 9+ 18x 5=

Answers, fold under: Mark your work when you have finished.

1) 299 6) 338 11) 153 16) 376
2) 810 7) 310 12) 585 17) 246
3) 379 8) 677 13) 393 18) 774
4) 470 9) 244 14) 292 19) 702
5) 648 10) 936 15) 884 20) 567
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